

## Welcome To Need Help World

The Need Help World is a crowdfunding platform, which focuses on fund-raising for online causes and helping poor people.

www.needhelp.help

info@needhelp.help





# About

Need Help World envisions bringing together individuals and organizations to help raise funds for social causes. Thousand of people in our country fight for their lives from fatal diseases and unforeseen medical emergencies everyday. Families are often left drained of all their savings due to insufficient funds and are forced to take loans at high interest rates. At Need Help World, we believe saving lives is a service. With the help of millions of donors online, who step up to support friends, colleagues and strangers with small contributions, we are trying to reach each and every individual across India to ensure that no life is ever lost due to lack of money.

 $\mathbf{O} \mathbf{O} \mathbf{O} \mathbf{O} \mathbf{O}$ 



# The Company



Crowdfunding is the use of small amounts of capital from a large number of individuals to finance a new business venture. Crowdfunding makes use of the easy accessibility of vast networks of people through social\_media and crowdfunding websites to bring investors and entrepreneurs together, with the potential to increase entrepreneurship by expanding the pool of investors beyond the traditional circle of owners, relatives, and venture\_capitalists.

## About Crowdfunding





### 0000

Crowdfunding is the practice of funding a project or venture by raising small amounts of money from a large number of people, via the Internet. Crowdfunding is a method of raising capital through the collective effort of friends, family, customers, and individual investors. This approach taps into the collective efforts of a large pool of individuals primarily online via social media and crowdfunding platforms—and leverages their networks for greater reach and exposure.

•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•

## Our Mission



Builds trusting relationships with mission sustaining partners, and collaborates with international program partners to transform communities and tackle the greatest barriers to their sustainable futures: poverty, disease, illiteracy, and despair.



Partners with local leadership to strengthen communities, one of the poorest countries in the world, by supporting programs that provide vulnerable children and their families with opportunities for education, health care, and spiritual mentoring.









•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•
•	•	•	•	•	•	•	•

## Our Vision



We believe that we can make a difference, that collaborative efforts to serve the most vulnerable will one day transform the world, and that all people will live in strong, nurturing communities where children and their families can fulfill their God-given potential through good health and education.



Supports life-changing care for thousands of children and their families through partnerships with the CRC and Mercy Hospital, and by providing local leadership and programs the financial underwriting, training, technical advice they need, and assistance of long term and short term mission teams providing expertise to build capacity.







We strive for maximum transparency regarding of the publicly available information about our deals and business cooperation with our partners.



**Professional Management Team** 

**High Level Of Security** 

### **Fastest**





## Envisioning **Our Business** Future

It is completely safe and legal, it is not a company but an organization that serves the society. Along with social service, you can also fulfill your needs.

Donation Given For The Welfare Of Humanity Is The Real Investment Because We Get 100 Time Of The Donation Given Back. This Includes God's Happiness Because When We Help A Needy Person, Blessings Come From His Heart And Our Sins Are Washed Away. Our Donations Are Returned To Us In The Form Of Aid.

02

This Is 100% Social Work. Everyone Should Get Equal **Opportunities. It Is The Act Of Giving And Receiving Help For** The Betterment Of Humanity As A Whole.

0000



### **Expert Management**

The entire work of our organization is managed by a team of skilled people.



### **Liability Fee**

01

By working with us you can work stress free without any liability.

### **Secure Payment**

03

Payment transactions are done securely through API Payment Gateway.







## Empower Change: Support Causes That Matter

At Need Help World, we believe in the power of collective impact. From Vision to Victory: Our Trusted Campaigns Redefining the Future of Charitable Initiatives that touch the lives of many.







## Make Your Future with us.

We want to shape the future with technologies for people, create values for people, and become a global company. We will be the best because we are committed to knowing our members and their needs. There are so many positive aspects to being part of a group or community. Providing unique opportunities for people to learn from each other and give support and encouragement are an invaluable part of joining forces with our peers:.







India's Exclusive and Authentic Platform for Charitable Contributions! We Issue Tax Exemption Certificates Under Section 80G on donations . A Genuine Platform Dedicated to Making a Difference through Giving!



• • • •





## Level Income

• • • • • • • •

Level	From	Amount	Total Amount	Upgrade	Referral	Profit	Reward
1	2	100	200	150	1	50	
2	4	150	600	300	+1	300	
3	8	300	2400	1000	+1	1400	
4	16	1000	16000	2000	+1	14000	
5	32	2000	64000	4000	+1	60000	2000 Cash
6	64	4000	256000	8000	+1	248000	Smart Watch
7	128	8000	1024000	16000	+1	1008000	Android Phone
8	256	16000	4096000	N/A	+1	4096000	Bike
	Total	31550	5444800	31450	8	5427750	







## **Terms & Conditions**

- > यह एक गैर-लाभकारी सोशल साइट है। हमारा सिस्टम किसी से कोई पैसा नहीं लेता |
- > सभी लेवल की इनकम प्राप्त करने के लिए प्रत्येक लेवल पर १ डायरेक्ट अनिवार्य है
- यदि आपका लेवल अपग्रेड नहीं है बल्कि आपकी डाउनलाइन का लेवल अपग्रेड है तो इनकम अपलाइन को चली जाएगी।
- यह एक ऑनलाइन उपहार आधारिट नॉन-रिफंडेबल क्राउडफंडिंग सिस्टम है। यहां लोग अपने पसंद के अनुसार ज़रूरतमंद को हेल्प करते हैं
- > इस सिस्टम का काम लोगो को बिना किसी बाध्यत्ता के एक-दूसरे को हेल्प भेजने के लिए जोड़ना है
- > यह केवल एक उपहार पोर्टल है, कोई एमएलएम/नेटवर्किंग या पॉइन्जी ब्लॉग नहीं।
- > रजिस्ट्रेशन के बाद, आपको 7 दिन में 2 डायरेक्ट सदस्य बनाना साथ ही अपनी आईडी को 150 रुपए तक अपग्रेड करना अनिवार्य है।



## Thank you for being a part of this meaningful discussion!

We appreciate your time and valuable contributions. Thank you.

Prateek Welfare Society Varanasi, Uttar Pradesh **Our Website Contact Us** info@needhelp.help www.needhelp.help





needhelpworld24@gmail.com

